Puzzle #536

[image: image1.png]Triangle ABC is a right triangle with an
altitude drawn from the vertex of the right
angle to its hypotenuse.

B

A 18 D 8C

What is the length of AB? AD=18,DC =8




Puzzle #536

Answer

[image: image2.png]21.63 units

BD is the geometric mean between AD and DC. The

geometric mean between two numbers is the positive
square root of their products. 18 x 8 = 144. The square

root of 144 is 12. So BD = 12. The theorem is the
measure of an altitude drawn from the vertex of the right
angle to its hypotenuse is the geometric mean between the

measures of the two segments of the hypotenuse. Since

we now know AD = 18 and BD = 12, we can find AB

with Pythagorean Theorem:
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C? =182+ 12% C* = 144 + 324; C* = 468,
C=2163



